N&Wa\ Lflﬁﬁw - —Lwﬁzya&r(m ll\l‘l{l@

S-}(dx = \n\X\*C

e

St -
=x-5 Ajﬁ_d»\: alh[u\ﬂl =WX‘§@

D) j Secx Yo dX

secx — |

L= ‘Sec)("\

Au )‘,
— = An¥X
” CX

AM — Secx ¥a.,vn)4 O\X



y [\ |
v alj—f‘%,t‘- it - 2|5+
50 e (5
3 ] @ .

B) j: mdx »

L= I j%_.:\nlu\-\'c = In ""()%\‘e
i :\-;E\—x ] \“\éﬁﬁj FC — (\n\W\E\*C)
e :\Y\&g.-—-'\vx_\ =@
A‘r: sec 4

EX% G\Vgh (‘\T \'}3 SD\VQ ‘_\/\'\Q A'@QWA\A’A CQD\’\ dk dant + |

*k
lav -;5 sec © 44 )
S Lot + | u—-’}aht—\-l §%

2o Gt
r= \Y\\"““{.ﬂ\-\rc 0;;_' SQ(Q'W{* njujtC
H \Y\\-\'an’\\"\"\+c




u= cos X _ __é‘j‘__‘ _
:& . — lnlu]+ C
_ dm = SinxdX - ]n\CoSXl\"’C

% £) = Yame Lo, 74| . Find e average

Wy value .
\
F J—meo\x
‘- 0




